Math 152 - Fall 2012 - Quiz #4 Score: out of 10.

Name: ﬂzpﬁ

L Show all work clearly and in order. Please box your answers. 10 minutes. |

SOLVE 2 OF THE FOLLOWING INTEGRALS:

Please indicate which one you do NOT want me to grade by putting an X through it,
otherwise I will grade the two worked on:

1. Evaluate / sin®(4z)dz.
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2. Evaluate / cos*(z)dz.
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3. Evaluate /tans(x) sec(z)dz.
sec?0 = |+ 40
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SOLUTION 2 l



SowT\oN 2 !
gl

S Joun S eI < = f Ju Y(x<)sec¥(x) - sec(x) fu(x) dx

\

] f[sec’(x)-l']zsccs(x) - sec (x) Fan(x) el x

U= sec(>) => _j‘fﬁ_; sec (x) P (x)

=) AX = d“
Sec (%) fr(se)

B f(uz—/)z U - secld it du
Sl T

:j.[u‘/ 'Zul* IYugolb\

;J‘<M7—2u5’+ u? )du




